SRIJEDA, 3.3.2021. MATEMATIKA- MD
POIGRAJ SE OVIM ZADACIMA. KAD TI JE DOSTA MALO SE ODMORI.
[image: https://i.pinimg.com/564x/79/ac/28/79ac283722dae03f40fd06b50ebe0989.jpg]
[bookmark: _GoBack]
image1.jpeg
1x10
1xt =
1x12

2x10=
2xi1=
2x12=

3x10=
3xi1=
3xi2=

4x10=
4xii=
4xiz=

5x10 6x10 7x10 8x10

511 6x11 7t 811
5x12 6x12= Txi2= 8xi2=
10x1= Mx1= 12x1=

11x2 12x2

11x3 12x3

x4 12x4

11x5 12x5

11x6 12x6

1x7 12x7

11x8 12x8

11x9 12x9
9x10= 10x10= 11x1 12x10=
911 10x11= 1x1 12x11=
9x12 10x12= x1 12x12=





